Po3ki1agaHnHg MHOTOY1JIECHIB
HA MHOKHUKH
32 JONMOMOI 00 (hopMYy.JI
CKOPOYEHOI'0 MHOYKEHHSI

Buutenb matemaTtukum
'y6cbKka OneHa PepnopiBHa,
HBK «limHasia-wukona» Ne 27



PiI3HUIIA KBaJApaTiB

9b4c* — 0,16a®=

=(3bc*)?* — (0,4a™)*=
(3bc*—0,4a*)(3bc?*+0, 4a4)
0,25y* — 81=(0,5y)% — 92 =

=(0,5y —9)(0,5y + 9)



IlepeTBopeHHS MHOT0Y/1€HA Y KBAAPAT CYMH
200 pi3HUII ABOX BHPA3iB

a’+2ab+Db?=(a+¢)’

4y* + 20ay?* + 25a*=

=(2y* + 5a)?
0,01b° + 0,8b3 + 16=
=(0,1b> + 4)~



IlepeTBopeHHS MHOT0Y/1€HA Y KBAAPAT CYMH
200 pi3HUII ABOX BHPA3iB

a’-2ab +b?=(a - ¢)?
16b1° — 24b° + 9=(4b> — 3)?
4y +5)%-2-(4y+5)-(y —3)+(y —3)" =
= ((4y+5) - (y-3))°
= (4y+5—y+3)*=
= (3y + 8)°




3aBJIaHHA
[loBecTu, Wo 3Ha4YeHHA BUpasy
NPUUMAE HEBIA'EMHe 3HAaYEeHHA nNpu
6yab-AKMX 3HAYEHHAX 3MIHHUX

01+ 27y° —18)(?5_)/4
3-(3(:10 +9° —6x5y4) =

=376y 9y )=

:3-(x5—3y4)2 > ()




Cyma i pi3HuIs Ky0iB JB0X BHPA3IB

a3 + b3= (a + b)-(a* — ab +b?)
0,008y” +27b° =
=(0,2y°)° + (3b)°=

= (0,2y*+3b) - (0,04y°—0,6y3b+ 9p?)



Cyma i pi3HuIs Ky0iB JB0X BHPA3IB

a3 + b3= (a + b)-(a* — ab +b?)

125mbx1% +y15=
=(5m2x4)3 1 (y5)3=

— (5m2x4_|_ y5 ) .

(25m*x® — 5m?xty® + y10)



Cyma i pi3HuIs Ky0iB JB0X BHPA3IB

a®> — b°=(a — b)-(a* + ab +b*)

1000x3° — 216y°b14=
=(1Ox10)3 e (6y3b4)3=
=(10x1°— 6y3b* )

- (100x%° + 60x'°y3b* +36y°h®)



[pa “3Hanan no:vmey”

Aa? + 2am+m? = (2a+ m)2

Ox! O—6x" +2=(3x" —1)
b3 +1=(b+1)(b* -

(2 1)2 16= (2 x—-16)(2-x+16)




O64ucnime 3Ha4YeHHA 00bymKis
yucesn 34 3pa3Kom

39-41=(40-1)(40+1)=1600-1 = 1599

201-199 84 -76 2,02-1,98

39999 6384 3,9996



JTSAKYIO 3A YBATY!
BAYKAIO YCHIXIB!




